
SAP ABAP table CRMC_TAX_EVENT_M {LAM: Assign TTE Tax Events via TTE}

CRMC_TAX_EVENT_M

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

BPTAXGROUP [CHAR (20)]

PRTAXGROUP [CHAR (20)]

TAXEVENT_NO_TAX [NUMC (3)]

TAXEVENT_UPFRONT [NUMC (3)]

TTE2C_TAXEVENT

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAXEVENT [NUMC (3)]

 CRMC_TAX_EVENT_M-TAXEVENT_NO_TAX = TTE2C_TAXEVENT-TAXEVENT 
0..N

0..N  CRMC_TAX_EVENT_M-TAXEVENT_UPFRONT = TTE2C_TAXEVENT-TAXEVENT 0..N

0..N
TTEC_COUNTRIES

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

 CRMC_TAX_EVENT_M-COUNTRYISO = TTEC_COUNTRIES-COUNTRYISO 

0..N

0..N


